C. Y. Yeung (AL Chemistry)

F7 AL Chemistry (Tutorial 40)
~ Suggested Solution ~
1.
(a)
The triacylglycerol is likely to be liquid.



Since the fatty acid molecule contains three C=C bonds. Cis-isomers may exist at 

these unsaturated centres which would lead to a poor packing in the solid state.


Therefore the intermolecular attraction is weak and the melting point is low.


(b)
Since the iodine value is the mass of iodine reacted with 100g of fats or oils,


no. of mol of lipid X = 
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 = 0.355 mol



no. of mol of I2 reacted = 
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(
lipid X : I2 = 0.355 : 0.355 = 1 : 1


(
Lipid X molecule contains one C=C double bond.
2.
(a)
Glycine, as it does not have chiral centre.
[image: image1.wmf]282

100



(b)


(c)
Yes.



Because intermolecular hydrogen bonds could be formed among these dipeptides.

(d)
Paper chromatography
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then the mass of water = 20 and the mass of honey = 60ge

no. of mol of water = 22~ 1.11mol «

no. of mol of honey = mﬁ%:nm mol

water : honey = 1.11:0444=25: 10
The average number of water molecules bounded to one glucose

molecule in honey is 255

(i) Hydrogen bond
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3.
(a)







(b)




(c)

4.

5.
(a)



Maltose molecule bears a free aldehyde group in its open chain form.

(b)
(i)
Let the mass of honey be 100g,




then the mass of water = 20g and the mass of glucose = 80g





no. of mol of water = 
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no. of mol of honey = 
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(
water : honey = 1.11 : 0.444 = 2.5 : 1




(
The average number of water molecules bounded to one glucose 



molecule in honey is 2.5s



(ii)
Hydrogen bond.




Glucose molecule has many hydroxy groups which form intermolecular 


hydrogen bonds with water molecules.
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